CHAPTER - 10
LEVERAGES
The capital structure decision Mm. a mmmimnmi Sm:mmmﬁ.
decision. It influences the debt-equity mix of the COmpany, SE%

ultimately affects the shareholder’s return and risk. If the pro
of borrowed funds is more than owners’ funds in the tota]
structure, the return as well as the risk of the shareholders wi];
On the other hand, if the proportion of owners’ funds is more than th
borrowed funds in the total capital structure, the return as well ag Em
risk of the shareholders will be much less. The leverage analysis e
used by business firms to quantify risk-return relationship of aEmE“
alternative capital structures. ,
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Concept of Leverage:

The term Leverage in general refers to a relationship between two
interrelated variables. In financial analysis, leverage refers tq the
influence of one financial variable over some other related financial
variable. These financial variables may be costs, output, sales revenue
EBIT, EPS etc. , T

James Horne has defined leverage as ‘the mn%__oﬁsm:ﬁ of an
asset or funds for which the firm pays a fixed cost or fixed return’. The
m.cam cost (also called fixed operating cost) and fixed return (also called
mbmsﬂ& cost) form the basis of leverage. If there are no fixed costs,
there isno leverage. The fixed costs remain constant irrespective of the
level of output or sales. Hence, the employment of an asset or source of
?bm.m for SE% the firm has to pay fixed cost or return has a
considerable influence on the earnings of equity shareholders. It is
pertinent to note that while levera gemay help to increase the retumto

Eomrmamro_mmnm:mﬁmo increa .
. ¥ ses the . Hi i of
leverage, higher is the risk as well. risk. Higher is the degree

b. Financial lever ; (
. ‘erage 'c. Combined leveragé

a. Operating levera e:O " e
costs in the o@mnmmo:mmomm Perating _m<9.mmm refers to the use of fixed

of the volume of output or mw_. Afirm hag to pay fixed costs irrespective
even a small change j €. As the fixed costs remain the sameé:
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O%mnmaﬁm wm<mumm.m is defined as the firm'’s ability to use fixed
ing costs to magnify the effect of changes in sales on its operating
g.BIT)

¢ of Operating Leverage: The degree of operating leverage

pere

0
profit (

Degre” : t of ct e e
cures the Impact Of changes m sales on operating income (EBIT).

M_MM_ calculated as follows:
Percentage change in mm.ﬁ. Contribution
DOL: = Percentage change in Sales (OR) EBIT

Degree of operating leverage shows the responsiveness of EBIT

changes in sales. For example; if DOLis 2.5, it means that 1 per cent

.8 mﬂmm in sales would lead to 2.5 per cent increase in EBIT. The
Mmﬂzwgm example shows the impact of operating leverage.

Tllus
firm pr

tration 1: A firm sellsa product for Rs.150 p.u. 05..8.:;% the
oduces and sells 4,000 units. The variable cost per unit1s Wm..poo
and the fixed operating costs are Rs. 1,20,000. >mchM the sales of 9M
company increases by: (a) 1 %and (b) decreases by 1%. What woul

be the impact on operating F<w§m.%
Impact of Operating Leverage

Present . Expected
Position 1% Increase 1% Decrease
in sales in sales
_ 3,960
Sales (in units) 4,000 4,040
4,000
Sales (Rs.150 p.u.) 6,00,000  6,06,000 59
. . 0 40 3,96,000
Less: V. Costs (Rs.100 pu.) 4,00,000 4,04,000 —
R 1,96,0
Contribution 2,00,000 2,02,000 A,
o r ’
Less: Fixed operating costs 1,20,000 1,20,00 —
\I\I‘III\‘ f i
_ Oﬁmm.m.q.r:m Profit 80,000 82,000 -
: (+)25% (-)5%

Increase / Decrease in EBIT ~ Nil
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- that 1 per centincrease in saleg br
From theaboveit mmm%._mwmw@%\%o x100=25 %) gy, N
2.5 per cent Ennm,w",.mmumm_gmm in sales from ~.:.&G; Es,ﬂm:o:\ pr ca:nﬂ
TR %% mwmwpmzﬁ (4,000 / 80,000 X 100 = 5%)
Sper nmz.ﬁ " ill not have an ot@.m::m _.r.p./\mn m.mm if Eﬁ.c. .E.m.:o mxa "
i es, the operating profits of .mmE; Yares in &ga
no&mmﬁﬂo” M;mmwm%msmmm in sales level. This is illustrated ag %ozcswu
prop

— 8

Present Level Expected Levg)
1% Increase jp saleg
4000 units 4040 units
Rs. Aok }_wu/
Sales (Rs.150 pw)  6,00,000 6,06,000.
Less: Variable costs 4,00,000 . 4,04,000
Contribution 2,00,000 2,02,000
Less: Fixed costs Nil , Nil -
Operating Profit 2,00,000 ; .lmg
Increase in EBIT Nil ) +1%

From the above it is clear that 1 wmw cent increase in sales produces
1 per cent increase in EBIT( 2,000 /2,00,000 x 100) This means that

there is no operating leverage, Operating leverage occurs only when
the quotient exceeds one.

The Operating leverage at any level of sales is calle
Thed

d its degree.
egree of operating _m,,\mammm is also calculated ag fol]

OWS:

, SRa Contribution
- Degree of operatin leverage = -
e o EBIT

sells a product at Rs.10 per unit. The firm
iable cost per unit is Rs.5.
g situations:

N

/
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Hon: Statement showing Operating Leverage

solt Situation 1 Situation 2 Situation 3
300 % 10) 4000 4o 4,000
m_,,_w.,.“,\hca (400%5) .« 2,000 2,000 2,000
_\mmvn.avsmo: A 2,000 gl 2,000
9:). Fixed cost : 500 1,000 1,500
LesS* ting Profit (EBIT) 1,500 1,000 500
%%:sm Leverage = 2000/1500  2000/1000 2000/500
Oper? OPL- = 133 9 4

urable and Unfavourable Operating Leverage: Operating
i e may be favourable or unfavourable, I the contribution (Sales
_%.\.m%m/\mimgm cost) is more than fixed costs, operating leverage is
_E._HM be favourable. On the cther hand, if the contribution is less than
%Mm ixed costs, the operating leverage is said to be unfavourable.

High and Low Operating Leverage: The degree of operating
leverage depends upon the amount of fixed cost m_mﬂ.,mnﬁ in the cost
structure. A firm is said to have a high degree of operating leverage, if
it employs a greater amount ,om fixed cost and a smaller mBo:bm of
variable cost. On the other hand, a firm will have low operating
leverage, if it employs a greater amount of variable costand a smaller
amount of fixed cost. A high operating leverage is highly risky vmnm:mn
the margin of safety is very low. Hence, no firm likes to operate E,.mmn
conditions-of a high degree of operating leverage. A low operating
leverage, on the contrary, gives cushion to the management by
Providing high margin of safety against fluctuations in sales.

mmmimnmsnm of Operating Leverage: Analysis of o.wmamnbm. leverage
ofa firm jg very useful to the financial manager. H.ﬂ tells .Em :.Eumn.n of
change in sales on operating income. A firm with a high operating
_m<9.mmm has a relatively greater effect on EBIT for mn.S: nﬁ.msmm 5
sales, A high degree of operating leverage can dramatically increase
the opera ting profit. But if there is a decline in sales _mi.wr operating
Profit May be wiped outand aloss may occur. H.._,.mnmmoﬂm\ high Qmmnmm of
OPerating levera ge is good when sales are rising'and bad when they
mﬁm,mm:m:m .
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; depends on f srcentagech :
" rating leverage Xed g Percentagec angein Epg
| Asstated earlier, (b7 higher would be the op Crating Jo,, % :L. = Percentagechange: (OR) 1
m . . FL. a
~ Ifthe fixed costs aré Tumwmﬁwmwmm womﬁ._m risk of the firm not TmEW Q,mmm D 3 b & 5Mme§ meH EPS
| .

as well as risks. The i mzmg ree of financialleverage shows

ting leverage jg .. - o ther i
m : ; sts. If the opera ® 18 higp . peg o €sponsiveness of EPS to
ﬂ cover its fixed %mnmﬂwwhwoﬁﬁ would be reached at a high Hmmw; nges in EBIT. For mxmsﬁ&m\ R E.m degree of financial lever ageis2,it
means that the va%m ﬁwm margin of safety would be low. ?mnm.moa,_&é o :amu. that one per nwa fnerease in EBIT would lead to two per cent
V m&mw DOM.MMMMMNN sufficiently above the break-even poin jq _u%nmmm in EPS: The following Example will highlight the effect of
ﬂ_ preterre . < in sales and profits. e i . |leverage e
| f fluctuations in sales i : - anCia .
k% dangers o. ke ing risk refers to variability of Rg fin tion 3 : A company has 1,00,000, 10% debentures and 5,000
a. Operating risk : Operating [lustra £

variability of EBIT may arise dueto <mamE.E% mvm sales and varjapa.:
of expenses. Ina given environment, operating risk cannot Un. wé_pmw
i. Variability of Sales: The variability ,om mm_,mm am<mdsm,,u i |
determinant of operating risk. The sales of the company may f g
on account various factors such as changes in general eq
conditions, availability of raw materials, technological

jity share of Rs.10 m.mnr. Itisin 50% tax bracket. Calculate the EPS
M@a sach of the following levels of EBIT (a) Rs.50,000, (b) Rs.30,000
0!

0 wm.é\ooohmﬁs_&m the degree of financial leverage taking EBIT

m, el of Rs.50,000 as present level.
nw 7|

golution: EPS at various EBIT levels
Present level Expected Levels
- Case I Case II
(<) 40% (+) 40%

ii. Variability of expenses: Variability of EBIT is further affect ; Rs

the composition of fixed and variable expenses. Higher the EBIT 50,000 30,000 70,000
of fixed expenses relative to variable mxvmdmm@ higher 5 Less: Interest = . Hoboo‘ Ho\ooo 10,000
wﬁhﬂmmmwmw mmwmw mwﬁﬁ%mﬁﬂ“@ﬁ% leads Earnings Before Tax 40,000 20,000 60,000
falling, EBIT will decline at a faster rate than fall in sale ; ekt T : Noboo 10,000 30,000
leverage causes wide fluctuations in EBIT with var Earnings After Tax 20,000 10,000 30,000
expenses may also vary on account of chan. i No. Equity Shares 5,000 5,000 5,000

. also contribute to the variability of EBIT. T EPS . 4 2 6

: b. Financial Leverage: The use of long-term debt and pr Decrease / Increase in EPS Nil ()50%  (+)50%

4 5x Y

Comment: Case I: A 40% decrease in EBIT (from Rs.50,000 to
R530,000) leads to a 50% decrease in EPS (from Rs.4 to Rs.2)

CaseIl': A 40% increase in EBIT (from Rs.50,000 to Rs.70,000) results
n50% increase in EPS (from Rs.4 to Rs.6)

mmcoEme_ and Unfavourable Financial Leverage: Financial leverage
"3y be favourable or unfavourable. If the company is able to generate
Aleturn which g higher than the cost of borrowings, the leverage is
i tobe fayourable. On the other hand, if the company earns a refurn,

“hich is less than the cost of borrowings, leverage is said to be

"favoyraple,
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and Financial Leverage:
ge is also sometimes termeq o,

Trading on Equity
ﬂ.m. %
aiw;

The financial levera & )
thors on financial man
equity. However, many of theau a 8emey,
52

the opinion that the term trading on mmﬁa\ should Uw used fq, t

financial leverage only when the m:mz.n_&_ ~m<ma.m. geis mm<o5mgmm gg_
company resorts to trading on equity with the objective of camy W
on fixed charges funds than their costs. For example, msvvo%msﬁ

borrows Rs.10,000 at 8 % interest p-a. m:.a mmb. areturn of S,..\” i
excess of earnings over interest (12 % minus 8.% 0) 4% belong, m.;
shareholders and this represent profit from financial ~m<m~mmm. On th
other hand, if the firm could earn only 6 %o, z.gm loss to the mrmié th
would be 2% as they have to pay a fixed interest of 8 v, ,mEmag
leverage has the potential for increasing the mmgg,mm of mrmamra\a

" as well as creating the risks of loss to them. Therefore, it isa aoém_”

edged sword. .
High and Low Financial leverage: Every firm has to make i ?_
decision regarding the quantum of funds to be borrowed. If the amoy
of borrowings (debt and preference share capital) is Hm_ma,\m_w._,&%g
proportion to equity share capital, the company is said tobe trading,
thin equity. On the other hand, if the amount of voﬁosﬁa fundsj
comparatively low in relation to equity share capital, the company g
said to be trading on thick equity. ; :

Significance of Financial Leverage: Financial leverage helps t
finance manager in designing the appropriate capital structure. Onef
the objectives of planning an appropriate capital structure st
maximise the return to the equity shareholders’ funds or maximiset
EPS.

Financial leverage is a double-edged sword. On one hand,
increases the earnings per share and on the other, it increases finand
risk. A high financial levérage means high fixed financial costs a
Em: financial risk i.e. as the debt non%o:mi in capital structi®
increases, the financial leverage increases and at the same time finand
risk increases i.e. risk of insolvency increases. ,_

bri H_Mm finance Manager, therefore, is required to trade offi.e. E.%
Ting a balance between risk and return for determining the mﬁ?%a%
amount of debt in the capital structure of a firm .

10.8
_.ncial risk: Financial rigj ref,
m—ﬁwﬁ . ) €rs to the v
et ﬂwﬁ%ﬂﬂmﬁ% Firancil ik e ey o o457
of porro ©tal ate 4 S Operatin gon memn o ue to excessive use
0 total cap o sually expogeq to such a r ME: of debt capital
m:w:nmm firm wrlhave no financiy) tisk. Finan, wm > totally equity
ol dable risk if the firm decides ot to & niskis, therefore, an

ite Leverage: "Co 5
CompO®! _ -Omposite leveragpe e
operating leverageand b:msam:@mamm. ge is a combination of
Operating leverage affects the firm'’s operati ol ot
ine result of production. The degree perating profit which is

! of operating |
gectof changesinsalesonBBIT, o< croge shows the
i

Financial leverage affects the earnings of shareholders or EPS. It
is the result of financial decision. The degree of financial leverage mromzm

the effect of changes in EBIT on EPS,

As a result .om the combination of operating and financial
leverages, fluctuations are caused in EPS. The composite leverage
measures the combined effect of operating leverage and financial
leverage. It shows the effect of changes in sales on EPS. :

Degree of Combined Leverage (DCL): It is calculated as follows:

Uﬂh. = DOL x DFL
. Contribution  EBIT  Contribution
— X . = AOHﬂv
EBIT EBT EBT
?Eﬁ.ﬁmm change in EPS

= Percentage change in Sales

Degree of Combined Leverage shows the responsiveness of EPS to
changes in Sales. For example, if DCL is 4, it means that one per cent
change in sales would lead to 4 per cent change in EPS.

Significance of Combined Leverage: | :
The ratio of contribution to earnings v&..:m tax, ﬂé:@%BwE&
leverage shows the combined effect of operating and financial leverage.
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. : age and 2 high financia] ley
A high operating lever : : o
cn&w:mmob mwwéww risky. If the noﬂ%wsv.\ H,m ﬂnoa%n_mﬂ and mmzﬁm@h
: high level, it will make huge profits foritss m.nm holders. Byt ever
MBMW fall E\Em level of operations would resultin a tremendoyg ¢ &

faly;
intain a proper balan |
EPS. A company must, therefore, maintain a prop ceb twegy
these two leverages. g

b. A low operating leverage and a uos.\ financial F<3%
indicates that the company is following very nmcn.ﬂosm m.ba Consery atv,
approach on both production front as well as E::.SEH .maoﬂ. Such,
conservative approach may mean 9.2 Em.noawmsw is losing Profitap,
opportunities. Moreover low debt financing will raise the overall oy
of capital to the firm. _ i

c. Ahigh operating leverage and a low financial leverage revey
that the production policy is aggressive but so far as financing gm@
is concerned, a cautious approach is being followed. The higher amyy;
of risk involved in high operating leverage is balanced by low financij
leverage. : fi 2

¢

d. Alow operating leverage and a high financial Ieverage shows
a bold financial policy (a high debt-equity mix). Higher risk due to
high financial leverage is counter balanced by a low operating leverage.
This enables the management to pursue an aggressive production policy
by way expansion or diversification, take the fullest possible advantage
of growing business opportunities. A low operating leverage implies
the company reaches its break-even pointat a lower of sales. H.rm%m.oa
the risk is minimised. e s
From theabove it is clear that the management should avoid the
noB_uEwmo: of high OL and high FL or low OL and low FL as far 2
possible. From the shareholders’ wombﬁ of view, a low OL and a high H
combination is considered tobe an ideal situation for the maximisation
of profits. . e 1
Thus, leverages play a vital role in financial decision making:

Both ,oum«mm:m leverage and fi : ;
Ina 1 . due
attention to have a balanced ca ncial leverage should be paid

Pital structure and maximise the retus®
on shares. h o - E ar aximise eh
i mw”ﬂﬁ%” M%m:.mm:nm on high financial levera ge without payi6

O Operating _m<m3mm results in lop sided capital structuré

hig
4iss©

1.

2
3
4.
5

j incidence ‘of fixed charges, low profits ang ultimatel
Jution.
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y an early

Test Questions

Explain the term leverage. What are its types?

~ What s operating leverage? Explain its significance.

~ What is financial leverage? Discuss its significance

What is composite leverage? How it is measured?

. Define operating and financial leverage. How can you measure

the degree of operating and financial leverage? Illustrate . with an
example.

 Whatis financial risk? How it differs from operating risk?

. Explain the impact of various combinations of operating and

financial leverage? Which combination is considered to be an
ideal situation for a company?




